	Construct
	To create an accurate drawing of an object

	Inverse
	The opposite operation of something. e.g. the inverse of add is subtract

	Product
	Another word for multiply. e.g. 4 × 7 = 28 Here, the number 28 is called the product of 4 and 7.

	Inequality
	Inequalities are a set of five symbols used to demonstrate instances where one value is not the same as another value.Key Information
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* In order to multiply a fraction, both factors must be in
the form of fractions

* To convert a mixed number into a fraction, multiply
the whole number by the denominator of the
fraction, then add the product to the numerator
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Javelin Frequency [ Midpoint Frequency x midpoint
distances in

metres
5<d<10 1 7.5 1x 75 =75
10<d<15 8 12.5 8x125 =100
15<d<20 1z 17.5 12x17.5 =210
20<d<25 10 22.5 10 x22.5 =225
25<d<30 3 27.5 3x275 =825
30sd<35 1 32.5 1x325 =325
35sd<40 1 37.5 1x37.5 =375
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Estimated mean =695+ 36 =193 m (to1d.p.)
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Construct Triangles
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3n+5=2n+7
Step 1. Identify the smaller letter term.

3n+5 ®+7

Step 2. SUBTRACT it from both sides
3n+5=2n+7
-2n -2n
n+5= 7




image5.png
Rearrange the formula to make a the subject

This means
we want to
rearrange
the formula
S0 it says
a=

b=5a+21

-21 -21

b-21=5a

+5 w5

b-21=a
5

Our answer should say ...a=b - 21





